
Call us: 9100433442 | 9100433445                                                            www.excelacademy.com 
 

   EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                           Date: 17-07-2021 

 

1. Consider the following statements regarding Backward Classes: 

1) Article 16 (4) provides that the State can make any provision for the reservation of appointments or 

posts in favour of any backward class of citizens who, in the opinion of the state, are not adequately 

represented in the services under the State. 

2) Article 340 lays down conditions for the appointment of a Commission to investigate the conditions 

of the backward classes. 

  Select the correct answer from the codes given below: 

 a) 1 only                              b) 2 only                            c) Both 1 and 2                  d) Neither 1 nor 2 

 

2. The State of Food Security and Nutrition in the World report is released annually by which body? 

a) FAO                                        b) UNESCO                          c) UNDP                            d) World Bank 

 

3. The Indian Navy received the 10th anti-submarine warfare aircraft P-8I from the which company? 

a) SpaceX                                         b) Airbus                              c) Boeing                     d) Dreamlinerd 

 

4. Consider the following statements regarding National Maritime Security Coordinator (NMSC)?  

1) It shall be created on the basis of Kargil Group of Ministers’ recommendation. 

2) NMSC will work under Indian National Security Advisor 

Select the incorrect statements: 

a) 1 Only                            b) 2 Only                   c) Both 1 and 2 only                          d) Neither 1 nor 2 

 

5. Which of the following are the objectives of Convention on Biological Diversity (CBD):  

1) The conservation of biological diversity 

2) The sustainable use of the components of biological diversity 

3) The fair and equitable sharing of the benefits arising out of the utilization of genetic resources 

Select the correct statements 

a) 1 and 2 Only                           b) 2 Only                              c) 1 and 3 only                    d) 1, 2 and 3  

 

6. Consider the following statements regarding UV rays: 

1) UVA rays have the longest wavelengths, followed by UVB, and UVC rays which have the shortest 

wavelengths. 

2) While UVA and UVB rays are transmitted through the atmosphere, all UVC and some UVB rays are 

absorbed by the Earth’s ozone layer. 

 Select the correct answer from the codes given below: 

 a) 1 only                                b) 2 only                           c) Both 1 and 2                           d) Neither 1 nor 2 

 

7. Consider the following statements regarding the Scene of the Crime(SoC) officers: 

1) Scene of Crime officers will have a rank equivalent to police circle inspector and will be part of the 

Directorate of Forensic Science Laboratories. 

2) The SoC officers will specialise in forensic science as well in identification, collection and 

preservation of evidence at the scene of the crime. 
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Select the correct answer from the codes given below: 

a) 1 only                                     b) 2 only                               c) Both 1 and 2                 d) Neither 1 nor 2 

 

8. The Kanwar Yatra is associated with  

a) Lord Shiva 

b) Lord GameShark 

c) Lord Muruga 

d) Lord Ayyappa 

 

9. Which of the following Article of the constitution deals with Freedom of Speech and Expression? 

a) Article 19                           b) Article 20                      c) Article 21                                d) Article 22 

 

10. Consider the following statements regarding lightning: 

1) It is the process of occurrence of a natural ‘electrical discharge of very short duration and high 

voltage between a cloud and the ground or within a cloud’. 

2) The process results in a situation in which the top layer of the cloud gets positively charged while the 

middle layer is negatively charged. 

 Select the correct answer from the codes given below: 

 a) 1 only                                  b) 2only                                   c) Both 1 and 2                   d) Neither 1 nor 2 


